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[19-GUJ]                                      No. of printed pages : 4 

SARDAR PATEL UNIVERSITY 

F.Y.B.Com. (NC) [ II SEMESTER ] EXAMINATION 

Friday, 20
th

 April 2012 : 11.00 am to 2.00 pm 

UB02CCOM04/12 : FUNDAMENTAL OF COST ACCOUNTING       

Total Marks : 60 

_p¢^ : S>dZu bpSy>_p Ap„L$ NyZ v$ip®h¡ R>¡. 
 

â.1 sp.31-3-2010 _p fp¡S> `|fp \sp hj®dp„ _pfpeZ gudV¡$X¡$  5000 kp^_p¡ 
s¥epf L$ep® s¡_u dprlsu _uQ¡ âdpZ¡ R>¡. 

(15) 

   ê$p. 
(1) L$pQp dpg_p¡ iê$_p¡ õV$p¡L$ 350000 
(2) L$pQp dpg_p¡ ApMf_p¡ õV$p¡L$ 150000 
(3) L$pQp dpg_u Mfuv$u 1800000 
(4) L$pfMp_p MQp® 1500000 
(5) Ap¡qak_p MQp® 235000 
(6) âÐen dS|>fu 1800000 
(7) iê$Aps_p¡ õV$p¡L$ s¥epf dpg _\u 
(8) s¥epf dpg_p¡ ApMf_p¡ õV$p¡L$ 180000 
(9) h¡QpZ rhsfZ MQ® 216000 
(10) h¡QpZ 6963750 

 

 s¥epf dpg_y„ d|ëep„L$_ DÐ`pv$_ `X$sf_p„ Ap^pf¡ L$fhpdp„ Aph¡ R>¡.  
 A¡L$d v$uW$ `X$sf v$ip®hsy `ÓL$ s¥epf L$fp¡.  
 Ap L„$`_u Ap kp^__p 2000 A¡L$d `|fp `pX$hp_p¡ cph cfhp dp„N¡ R>¡. sp. 31-3-2010 

_p fp¡S> `|fp \sp hj®dp„ `X$sf `f dm¡gp _ap_p¡ v$f d¡mhhp 2000 A¡L$d_p¡ ip¡ cph 
cfhp¡ s¡ _uQ¡_u dprlsu_¡ Ýep_dp„ gC _½$u Lfsy„ `ÓL$ s¥epf L$fp¡.   

   sp. 31-3-2010 `R>u dpg kpdp__u rL„$ds 15 V$L$p A_¡ dS|>fu MQ® 20 V$L$p 
h^i¡. L$pfMp_p A_¡ Ap¡qak_p MQp® A¡L$dv$uW$ e\phs fl¡i¡. h¡QpZ rhsfZ MQ® 
A¡L$dv$uW$ ê$p. 7 \i¡.  sdpf¡ 2010 dp„ dm¡gp `X$sf _ap_p v$f¡ _ap¡ d¡mhhp L$ep cph¡ 
A¡L$dp¡ h¡Qhp s¡ A„N¡_y„ A„v$pÆs `X$sf `ÓL$ s¥epf L$fhp_y„ R>¡. 

 A\hp  
â.1  `X$sf rlkpbu `Ùrs_u ìep¿ep Ap`p¡. `X$sf rlkpbu `Ùrs_p apev$p A_¡ 

dep®v$pAp¡ hZ®hp¡. 
(15) 

   
â.2   
(A) A¡L$ L$pd 160 L$gpL$dp„ `|fy„ L$fhp_y„ R>¡ s¡ L$pd A¡L$ L$pdv$pf 120 L$gpL$dp„ `|fy„ L$f¡ 

R>¡. s¡_¡ L$gpL$ v$uW$ ê$p.20 h¡s_ Q|L$hpe R>¡.  
(4) 

 (1) l¡ëku àgp_ dyS>b A_¡  (2) fp¡h¡¡_ àgp_ dyS>b h¡s_ _½$u L$fp¡.  
(b) L©$óZ L„$`_u_p Qp¡`X$pdp„\u _uQ¡_u dprlsu dmu R>¡. (08) 
(1) dpg kpdp_ d¡mhsp gpNsp¡ h^ydp„ h^y kde   60 qv$hk  
(2) spÐL$prgL$ dpg d¡mhsp gpNsp¡ kde    05 qv$hk  
(3) dpg d¡mhsp gpNsp¡ kf¡fpi kde    45 qv$hk  
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(4) dpg_p¡ fp¡S>_p¡ Ap¡R>pdp„ Ap¡R>p¡ h`fpi    1000 A¡L$d  
(5) dpg_p¡ fp¡S>_p¡ kfpfpi h`fpi      1500 A¡L$d  
(6) Apr\®L$ hfv$u S>Õ\p¡ `y_: hfv$u k`pV$u_p 30% R>¡.   

 D`f_u dprlsu `f\u ip¡^p¡  
 (1) `y_: hfv$u k`pV$u  (2) gOyÑd k`pV$u  
 (3) NyfyÑd k`pV$u   (3) ce k`pV$u  

(L$) kpfp h¡s__u `Ùrs_p gnZp¡ hZ®hp¡. (03) 
 A\hp  

â.2   
(A) _uQ¡_u dprlsu `f\u A¡L$d v$uW$ qL„$ds_u NZsfu L$fp¡. (04) 

 dprkL$ h`fpi 3000 A¡L$dp¡  
 Apr\®L$ hfv$u S>Õ\p¡ 250 A¡L$dp¡  
 Ap¡X®$f d|L$hp_p¡ MQ®  ê$p.25  
 A¡L$d v$uW$ hl_ MQ® 15%  

(b) A¡L$ L$pd 160 L$gpL$dp„ `|fy„ L$fhp_y„ R>¡. s¡ L$pd A¡L$ L$pdv$pf 120 L$gpL$dp„ `|fy„ L$f¡ 
R>¡ s¡_¡ L$gpL$ v$uW$ 30 ê$r`ep h¡s_ Q|L$hpe R>¡.  

(06) 

 h¡s__u NZsfu L$fp¡ :  
(1) l¡ëku àgp_ dyS>b   
(2) fp¡h¡_ àgp_ dyS>b   
(3) kde ep¡S>_p dyS>b  
(L$) saphs gMp¡ (05) 

 kde h¡s_ â\p A_¡ L$pe® h¡s_ â\p  
   

â.3 e„Ó "X' _u _uQ¡ Ap`¡g rhNs `f\u s¡_p¡ ep„rÓL$ L$gpL$ v$f _½$u L$fp¡.  (15) 
(1) e„Óp¡_u qL„$ds ê$. 172000, c„Npf qL„$ds ê$.12000 A_¡ D`ep¡Nu  Apeyóe 8 hj® 
(2) L$pfMp_p_y„ cpXy„$ (dprkL$) ê$.1500 (L$pfMp_pdp„ buÅ ÓZ kfMp e„Óp¡ Np¡W$h¡gp R>¡.) 
(3) e„Ó_y„ hudp âudued hprj®L$ 1%  
(4) e„Ó "X' _p¡ `phf MQ® - hprj®L$ ê$. 15,000  
(5) L$pfMp_p_y„ rhS>mu bug qÜdprkL$ ê$. 3000 

(L$pfMp_p_p Ly$g 15 gpCV$ `pCÞV$ dp„\u e„Ó "X' ` `p¡CÞV$_p¡¡ D`ep¡N L$f¡ R>¡. ) 
 

(6) L$pdv$pfp¡_p¡ `Npf L$pdv$pf v$uW$ dprkL$ ê$.1600, L$pfMp_pdp„ 3 L$pdv$pfp¡ R>¡. S>¡Ap¡ 
b^p S> e„Óp¡_u kfMu v¡$Mcpm L$f¡ R>¡. 

 

(7) L$pdv$pf L$ëepZ MQ® ê$. 2400 (L$pdv$pf v$uW$, hprj®L$)  
(8) ky`fhpCTf_p¡ `Npf dprkL$ ê$. 6000 

(ky`fhpCTf s¡_p¡ 3/4 kde, b^p S> e„Óp¡_u v¡$Mcpm dpV¡$ kfM¡ rlõk¡ hp`f¡ R>¡.) 
(9) cpX$p Mfuv$_p¡ e„Ó "X' _p¡ làsp¡ (A^® hprj®L$) ê$. 5000 (ìepS> ê$.900 krls)  

(10) e„Ó "X' _p¡ kdpfL$pd MQ®  Apeyóe v$fçep_ ê$. 20000   
(11) e„Ó "X' L$gpL$_p 2 eyr_V$ `phf_p¡ h`fpi L$f¡ R>¡. `phf_u qL„$ds A¡L$ eyr_V$_p  ê$. 3 R>¡. 

 A\hp  
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â.3 rhóÏ gu. _p L$pfMp_pdp„ ÓZ DÐ`pv$_ rhcpNp¡ G, O A_¡ D R>¡. s¡dp„ b¡ k¡hp 
rhcpNp¡ U A_¡ V R>¡. dpQ® 2010 _p dpk_u rhNsp¡ _uQ¡ âdpZ¡ R>¡.  

(15) 

  

rhNs 
DÐ`pv$_ rhcpNp¡ k¡hp rhcpNp¡ 

G O D U V 

âÐen dS|>fu ê$. 5000 6000 4000 6000 10000 

âÐen dpgkpdp_ ê$. 3000 5000 7000 8000 12000 

L$pdv$pfp¡_u k„¿ep 65 60 70 25 30 

huS>mu_u ndsp (qL$gp¡ 
hp¡V$) 

3000 2500 2000 1250 750 

gpCV$_p `p¡CÞV$ 16 24 18 10 10 

e„Óp¡_u qL„$ds ê$. 100000 60000 80000 30000 50000 

fp¡L¡gu S>Áep (Qp¡fk duV$f) 1000 600 800 300 500 
 

 drl_p_p L$pfMp_p_p `fp¡n MQp® _uQ¡ âdpZ¡ lsp.  
 

rhNs ê$. 
`phf 22800 

õV$p¡f rhcpN_p¡ MQ® 17500 

e„Ó_p¡ Okpfp¡ 64000 

kpdpÞe MQ® 20400 

rhS>mu MQ® 1404 

L$pdv$pf L$ëepZ MQ® 8000 

e„Óp¡_y„ kdpfL$pd MQ® 12800 

cpXy$ 3200 
  

 k¡hp rhcpN "U' _p¡ MQ® âÐen dS|>fu_p âdpZdp„  apmhhp_p¡ R>¡. k¡hp rhcpN 
"V' _p¡ MQ® DÐ`pv$_ rhcpNp¡ G, O A_¡ D hÃQ¡ 2:2:1 _p âdpZdp„ 
apmhhp_p¡ R>¡.  DÐ`pv$_ rhcpNp¡A¡ A_y¾$d¡ 6000, 5000 A_¡ 4000 L$gpL$ 
L$pd L$f¡g R>¡.  
 DÐ`pv$_ rhcpNp¡_p¡ ep„rÓL$ L$gpL$ v$f _½$u L$fp¡. Å¡ A¡L$ hõsy_p DÐ`pv$_ 
dpV¡$ G, O A_¡ D rhcpN_p A_y¾$d¡ 6, 10 A_¡ 5 L$gpL$_p¡ D`ep¡N \sp¡ lp¡e 
s¡dS> s¡_p L$pQpdpg_p¡  MQ® 400 ê$.  A_¡ âÐen dS|>fu MQ® ê$. 300 lp¡e sp¡  
Ap hõsy_u L$pfMp_p `X$sf ip¡^p¡.  

 

   
â.4 _uQ¡_u _pZp„qL$e dprlsu hëgc gu._u sp. 31 dpQ® 2009 _p fp¡S> `|fp \sp 

hj® A„N¡_u R>¡. 
(15) 

rhNs ê$p. 
dpg kpdp_ 2000000 
dS|>fu 1000000 
L$pfMp_p MQ® 900000 
Ap¡qak MQ® 520000 
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h¡QpZ A_¡ rhsfZ MQ® 360000 
s¥epf dpg_p¡ ApMf_p¡ õV$p¡L$ (1045 A¡L$d) 300000 
Qpgy L$pd Mps¡ 140000 
dp„X$uhpm¡g `pOX$u 400000 
i¡f V²$pÞkaf au 100000 
X$ub¡ÞQf_y„ ìepS> 40000 
h¡QpZ (20000) A¡L$d 6000000 

 

 `X$sf_p rlkpbp¡dp„ L$pfMp_p MQ® dS|>fu_p 80% g¡hp A_¡ Ap¡qak MQp® L$pfMp_p `X$sf_p 
15% g¡hp A_¡ h¡QpZ A_¡ rhsfZ MQp® h¡Q¡g A¡L$d v$uW$ ê$.25 g¡hp. 

 s¥epf L$fp¡ :  
 (1) _ap_yL$ip_ Mpsy  (2) `X$sf `ÓL$ (3) d¡mhZu `ÓL$   
 A\hp  

â.4 h°S>_„v$_ gu. _y„ 31-3-2010 _p fp¡S> `|fp \sp hj®_y„ _ap-_yL$ip_ Mpsy _uQ¡ 
âdpZ¡ R>¡.  

(15) 

rhNs ê$p. rhNs ê$p. 
dpg kpdp_ 125000 h¡QpZ (60000 A¡L$d) 650000 
dS|>fu 
L$pfMp_p MQ® 

50000 
90000 

ApMf_p¡ õV$p¡L$ (20000 A¡L$d) 
i¡f h¡QpZ_p¡ _ap¡ 

60000 
25000 

Ap¡qak MQ® 240000 dm¡g ìepS> 5000 
h¡QpZ rhsfZ MQ® 80000   
X$ub¡ÞQf ìepS> 10000   
AphL$ h¡fp¡ 5500   
L$p_|_u MQ® 2000   
_ap¡ 137500   
 740000  740000 

 

 `X$sf_p rlkpbp¡_u _uQ¡_u dprlsu dm¡ R>¡.  
 âÐen dpgkpdp__p¡ h`fpi   ê$. 140000  
 L$pfMp_p rifp¡`fu MQp® âp\rdL$ `X$sf_p        20%  
 hrlhV$u MQ® (DÐ`pvus$ A¡L$d v$uW$)  ê$. 2 A¡L$d v$uW$  
 h¡QpZ rhsfZ MQ®     ê$. 4  h¡Q¡g A¡L$d v$uW$  
 s¥epf L$fp¡  
 (1) hj® 2010 dpV¡$_y„ `X$sf `ÓL$  (2) d¡mhZu MQ®  

 

                       


